REORE-RRNBIEEREEES

BR&ER
EARs|pnns| BE1 8| WIRE| t5as|nEes ;i"%\ g‘gﬁj O] 3

BEAR |#imEm 0 14 6| 110 40 36 10 216

£33 32| 685 360| 3,550 1,330 1,190 550| 7,697
Y | SsEE 8 0 0 43 3 34 5 93

£33 264 18 18| 1,531 112 1,087 119 3,149
F4L |#mEn 2 5 14 8 13 76 34 85 3| 240

£33 59 120 410| 215 443| 2,972| 866| 2,284 52 7421
A |ssms 0 0 12 3 15

EER 4 4] 340 30 378
it | HEEE 0 0

kR 0 0
frlEx | St mEE

£33
b S| e m 1 0 0 1

EEE 5 11 3 19
J\RX | srsmEes 6 8 3 17

£33 61 103 46 210
Bt |swmn 0 0 0 0 0 0

£33+ 1 1 0 2 6 10
IREE |stsmEis

£33
KE | stsmEis 4 0 14 8 5 14 45

EER 31 3| 197 60 61 75| 427
Bt [mEE 2 13 39 8 19| 263 85| 166 32| 627

£33 60| 417| 1214| 215 828| 8706 2368 4,707| 796| 19,311

_50_




Bf{if:ha t

B4EM

BlinsEgrs|Rens Fose| B0 | L0 mnes 2ot |
40 42 137 6 20 20 28 293
1,562 1,610 5,000 300 290 395 820 9,977
31 2 97 27 10 22 189
961 74 2,345 709 242 407 4,738
117 52 468 28 55 60 33 8 821
3,410 1,055 14,077 872 1,420 1,142 638 272 22,886
13 3 1 17
268 25 18 311
0 0 0
0 0 0
0 1 0 0 1
3 17 5 ) 30
1 1 8 10
2 7 46 95
1 0 0 0 1
10 8 7 0 25
17 2 1 1 21
66 17 15 11 109
190 96 734 34 115 92 84 8 1,353
5,945 2,742 21,788 1,172 2,519 1,817 1,876 272| 38,131

_51_




RE0RE-RRENBEEREEES

F&ER @ im M
B0 | SEIF |Roasn[ERECT| Z0M | F FE | Bl | &% |[Zofh| E
BEAR | SutsmEiE 1 134 0 0 135] 192 65 27 5 289
HEE 45 2,470 1 10 2,526] 6,522| 2208 800 137 9,667
T | BEEE 19 35 2 1 57 37 14 1 52
£33 158 1,610 64 20 1852| 1,368 578 20| 1,966
E4& |#sEn 5 22 7 4 36 74| 267 84 4 30 385
C:3 1 25| 445 139 16| 567 1,192| 7,575 2238 21 534| 10,368
A |ssE 2 0 2 11 21 32
R 7 5 12| 155 165 320
ith | sEEE
E:3 1
frIEx | sismEiE
HEER
bR | st 1 3 4
E:3 -1 11 33 44
I\ | sismE 0 0 5 1 6
EES 3 3 20 11 31
Fit |swmEs 0 0 0 1 1
E3:3-1 0 0 21 26 47
PREE |#tmiE
kxR
KB | stsmE 6 0 0 6 8 10 18
E3:3-1 28 7 1 36 55 46 101
Bt [srmEE 31 191 11 4 37| 274] 521 199 31 36 787
EER 256| 4,525 218 35| 587 5621| 15727| 5305 821 691| 22,544

_52_




Bf{i:ha t

FHIXREE TDOHMA
E0K ﬁf?ih% g@%itme HO|TEEE| za—7 |R4HE| aEE ER
25 46 6 0 71 2
1,030 980 170 0 2,010 30
140 165 3 0 0 305 22 1 23 2
2,935 3,213 15 6,148 545 14 559 107
41 40 0 0 81 0
916 656 11 1,572 2
3 2 1 0 0 5
78 34 19 0 0 112
0 0 0
10 1 11
9 8 1 0 0 17 3 0 3
253 155 40 1 1 409 81 8 89
166 90 1 1 1 257 173 0 0 6 179 0
2,435 1,473 12 1 1 3,979 4,509 3 6 252 4770 16
0 0 0 0
3 2 0 5
188 96 4 1 1 285 13 1 0 1 15 7
2,420 1,049 86 2 2 3,471 129 20 2 24 175 28
572 447 16 2 2 1,021 211 1 0 8 220 11
10,080 7,563 413 74 74 17,717 5,264 23 8 298 5,593 183

_53_




RE0RE-RBENBBEEREEES

RohY *r=TIL
HH AH Z D1 &t IV #H Z D1t
REAR | sutsmms 0 0 0 0 0
£33 2 2 2 2 4
T | SsEE 3 5 8 16 0 16
£33 90 127 217 200 3 203
E4 |#mEs 0 0 8 0 9
£33 4 4 49 5 59
BEAR |#tmiE
EEE
Z5th | ssmE
EER
frlEx |#icmEs
EES
S| sermis
kxR
I\ | seEs 0 1 0 1
EES 11 20 7 39
Fit |ssm 0 0 0 0 0
£33 0 0 9 2 11
PREE |HitEHE
EEE
KB | gemEE 32 17 20 69
£33 268 251 253 772
Bt [geEE 35 22 20 77 24 1 0 26
£33 1 360 378 257 995 262 34 14 316

_54_




Bf{i:ha .t

WLWEHA [Zo&K
BERN | T 1 L &t
0 0 0 0
0 0 4 4
3 3 1 1
24 24 34 41
0 0 1 3
5 6 11 39
4 7
24 60
0 0 0 0
3 4 2 2
0 0 0 0
1 1 2 2
3 3 6 11
33 35 77 148

_55_



RE0RE-RRENBBEEREEES

p°d=k ] Ar€¥n-2403— V8
I Ll ey
BB | K | €D 1 27y | T LA |BEARECI2| FDith
REK |#tEmEia 5
HEE 160
T | BEEE 2 55 57 8 2 1 3
£33 24 1,341 1,365 116 26 3 29
EL | ssEiE 1 4 5 26 0 2 0 2
C:3 1 21 20 41 335 25 1 4 34
EAR | HEEmE
R
ith | sEEE
E:3 1
frlEx |sismia
HEER
20 | s ma
E:3 -1
IR | sermE 63 2 65 0 0
EES 705 38 743 1 1
Fit |swmEs 0 0 0 0 6 4 1 1 0 6
E3:3-1 0 21 1 22 100 46 16 2 7 71
PREE |#tmiE
kxR
KB | stsmE 14 14 137 1 2 3 0 6
E3:3-1 159 159 1,400 8 1 16 7 32
Bt [srmEE 66 73 2 141 182 7 5 5 0 17
EER 750| 1,541 39| 2330 2111 105 18 26 14 167

_56_




HB{ii:ha t

ZTDMAZED
HEE | ©F | LEY |INFDA|EADA| 350 | ZoM | 5t

3 1 0 0 4
55 16 4 0 75
10 12 2 2 1 1 28
30 146 50 28 20 6 284
0 0 1 0 1 1 3
9 5 32 1 10 32 89
2 4 6
24 30 54
6 6
73 73
14 0 14
213 2 215
3 0 0 3
30 1 1 32

7 2 6 15

138 69 53 260
4 0 0 4
21 4 4 29

2 0 2

47 1 48
42 21 4 6 4 8 85
455 336 99 70 99 96 1,159

_57_




RE0RE-RRENBEEREEES

UbH L
ER |RBER&£|Hofr&Y| K 2K |[HEOFE| s i
BEAR |smmE 6 14 11 8 1
£33 112 324 192 98 10
T | HEEE 0 2 2 6 0 7 1
EER 2 6 64 94 2 51 14
F4L |swEs 17 21 18 52 3
£33 313 418 73 969 40
BAR |#rEE 3 3 1 1 0
EER 10 22 10 16 2
it | HEEE 2 4 1 1 2
EER 38 47 9 43 19
fr&x | StEmEE 0
EES 6
S| s E 1 1 2
EER 7 19 22
I\t | stsmEes 1 24 13 9 23 1
EES 1 500 181 210 711 12
Fit |ssm 0
£33 0
BREE |stsmik 27 21 7 1 6
EEE 444 354 41 44 99
KE | ssms 5 0 9
£33 2 0 5
Bt [geEE 5 0 12 82 83 47 95 14
£33 1 4 0 12| 1488 1459 543 1,954 196

_58_




Hf{if:ha t

Be=3 | #idd | ZTiEde| FNEE HAX | £t &t

0 1 41

8 6 750

16

225

0 0 1 1 1 116
7 1 9 4 11| 1,845
0 0 8

8 4 72

2 0 12

11 0 167

0

6

4

48

5 1 76

68 15 1,697

0 1 3 5 1 1 82
4 2 92 28 4 8| 1,131
0 1 3 13 3 3 355
11 2 93 132 23 29| 5,941

_59_




RE0RE-RRNBEEREEES

RE>
T T Ir| B | Big (ex—x| G [peee—| Z50C | 20t 3
BER |mEmEmE 0 1 16 1 0 2 0 20
£33 0 13| 148 3 1 20 5/ 190
T | #EEE 0 41 16 0 0 4 61
£33 5 290 190 3 2 30 520
L |#rEn 0 10 1 1 2 0 14
EER 7 91 3 14 11 1 128
BEAR | sts@EiE 4 2 1 8 15
EER 47 17 13 82| 159
i |mEEE 0 10 1 0 0 1 0 12
EER 3 102 14 0 0 20 5/ 144
FlgF |stsmes 4 1 0 0 0 5
EES 63 6 0 0 3 72
Y | ssmE 1 1 0 5 7
EER 10 15 5 30 60
I\ | meeEmE 0 0 0 0
EES 0 3 10 13
Fit |#ssm 0 0 0 0 0 0
EER 2 0 0 4 0 6
BREE |sssmmE 0 0 0 1 0 0 1 4
£33 2 0 8 7 8 8 12 46
KE | @A 0 0
EER 2 2
Bt | sugm 1 0 46 58 3 4 0 10 14| 138
EER 22 5/ 366 612 27 47 3| 118 138| 1,340

_60_




H{l:ha,t
£
FEoHen|bEUVH| IV |[FaiO|RABR|BIAR| BBl [Hh2F|soste |RRARA|Imsatk| TOM| F
0 0 0 2 0 0 2
4 1 5 14 1 1 26
0 0 0 0 0
4 2 2 0 8
1 0 1 1 1 0 0 0 0 1 0 5
3 0 4 1 16 3 0 2 5 13 0 47
0 0 0 0 0 0 0 0
1 0 2 0 1 1 1 6
0 0 0 1 0 0 1
0 0 5 0 0 5
0 0 0 0 0 0 0
0 2 2 2 1 2 9
0 0 0 0
0 2 1 3
0 0
0 0
0 2 0 4 0 6 4 2 1 0 1 1 22
0 8 2 11 0 33 8 3 0 0 3 5 75
0 0 0 0
1 1 1 3
0 3 0 5 1 9 4 3 1 0 2 1 30
0 21 3 25 1 72 15 8 3 6 20 6 182

_61_




RE0RE-RRENBEEREEES

&
AR R L | nsrsas| KN EF |7RBEAE(mEER| 04t
REAR | sutsmms 0 0 11 0 2 0 13
£33 4 1 53 6 1 1 66
T | SsEE 0 15 0 2 101 118
EER 2 43 1 7 185 238
& |sEE 2 12 3 10 0 27
£33 11 114 8 45 0 178
BAR |#rEE 6 9 15
EER 45 32 77
it | HEEE 0 0 13 13 0 0 0 26
EER 0 0 130 138 0 0 0 268
FAlg% |siEmEm 1 0 1
EES 1 0 1
b3 | soE 1 0 18 0 1 1 1 22
EER 0 0 48 0 24 2 6 80
I\ | stsmEE 0 5 0 5
EES 0 29 3 32
Fit |ssm 7 0 7
£33 29 1 30
BKEE | susmEm 5 3 8
EEE 9 3 12
KE | ssms 0 1 2 4
£33 3 1 3 7
BEt |stsm 3 0 93 16 3 127 3 246
£33 1 17 1 504 156 32 269 10 989

_62_




Bf{i:ha t

<Y
R |[1EAfFA| BER i HiK RE | FIFCY | =RE | Zoft &t

3 0 0 10 2 2 0 17

3 0 0 11 2 2 0 18
18 1 11 18 3 14 65
15 1 9 16 2 9 92
36 4 13 29 38 36 186
31 3 10 68 33 22 167
110 11 13 29 261 233 19 2 678
195 3 20 48 380 210 23 7 846
36 24 44 141 30 32 16 0 323
31 15 26 154 45 18 18 1 308
11 2 2 9 12 7 5 48
6 2 1 8 10 3 4 34
139 2 1 17 134 2 19 2 316
139 9] 0 19 164 4 16 1 348
5 0 1 0 0 4 10

4 0 0 2 1 2 9

0 1 2 0 3

0 2 1 0 3
109 8 91 232 27 70 2 0 556
87 4 47 208 9 25 2 0 430
2 0 0 0 1 0 0 4

0 0 0 0 0 0 0 1
469 52 17 215 870 342 201 20 2 2,206
471 33 23 167 1,014 309 191 27 2 2,216

_63_




RE0RE-RRENBEEREEES

58
R/ FE e | amE | EX 1S H
BEAK |stsmiE 0 1 1 9 11
£33 5 8 13 65 91
R | srER 1 0 1
£33 0 0 0
FL |mmEE 1 1 0 9 11
EEE 1 1 0 28 30
A |ssmn 1 1 2
EER 1 1 2
ith | sEEE 0 0 0 0 0
EER 0 0 0 1 1
g5 |stmms 1 1 2
EES 0 0 0
b 2SI | srsEiE 2 0 0 0 3 5
EER 5 0 3 1 5 14
I\ | seemEs 1 0 1
EES 3 0 4
Fit |swmEs 0 0 0 0
EER 0 0 0
BREE |sismm 4 1 8 2 6 21
£33 0 0 2 0 0 4
KE | mmEn 3 2 0 6
EER 3 3 1 7
Bt |siEmE 2 12 1 12 4 28 60
EER 6 18 0 12 14 100 153

_64_




Bf{i:ha .t

— ~ i o ~ i o
— i N — i ™
- —
ita
=) TG
S
N
: = SERS SHE
v — —
[ — o«
N
._.TA
< < I 0 ® R
N o 0
ita
[=) [SK=) o i -
oy
i
o
I
1]
<
[=) oim ol m
Fﬂ
K
Mﬂ © R IP ¥ g
|
K
X = E i
™
—
D
m.v [=) o i w S
| 4
| =
P
) =

_65_



%ﬁwlﬁ:ﬁ'%ﬁfﬂliﬁiﬁﬁﬁtiﬁﬁ BfI:ha.t

VAT Cik o3 Y T hEERS
AL |Zof| & |va-|ZDf| & [LWBLL|EARA|TI-A-ESES| FDM| F
BEAR |mmEm 0 0 0 0 0 0 1 1
HEE 5 5 1 0 1 0 0 0
T |(awEn 0 0 3 3 6
E:3-1 6 6 78 6 84
EL |smEm 0 0 7 7
E3:3 1 12 12 2 2
BEAR |#ismiE 0 2 0 2
EER 1 3 0 4
Fith |ssEn 1 1 0 0 1 1
E3:3 1 14 14 0 4 0 4
frI%% |#temEiE 1 1 2 0 2 0 0 2
EER 0 1 1 0 3 2 0 5
354 | st mEia 0 0 3 12 1 16
£33 0 0 1 32 33
I\ |BEEE 4 0 0 4
kR 44 0 1 45
Fit [sssm 0 1 1 1 3 4
£33 8 0 8 3 3
FKEE |#tsmEiE 0 2 0 2
hER 0 11 0 11
KB |ssEm 0 0 0 0 34 34
£33 1 0 1 0 7 7
B |smmEs 1 1 2 1 1 2 7 11 14 0 47 79
£33 0 6 6 42 0 42 123 24 39 2 10| 198

_66_



